
𝑁+ → 𝑁+ − 1
𝑁− → 𝑁− + 1
𝑀++ → 𝑀++ − 2𝑘++
𝑀−− → 𝑀−− + 2𝑘+−
𝑀+− → 𝑀+− + 𝑘++ − 𝑘+−

𝑀−+ → 𝑀−+ + 𝑘++ − 𝑘+−

𝑀++ → 𝑀++ + 2

𝑀+− → 𝑀+− − 1

𝑀−+ → 𝑀−+ − 1

𝜇𝛼 =< 𝑘𝛼 >

𝑁𝛼

𝐵 𝑘𝛼𝛽; 𝑘𝛼

𝑑𝑀𝛼𝛽

𝑑𝑡
= 𝑁𝛼Σ𝑘𝛼𝑃𝛼 𝑘𝛼 Σk𝛼𝛽B k𝛼𝛽; k𝛼 ⋅

𝑘𝛼𝛽

𝑘𝛼
1 − 𝑝 𝑘𝛼𝛼 − 𝑘𝛼𝛽 − 𝑝 + 𝑁𝛽Σ𝑘𝛽𝑃𝛽 𝑘𝛽 Σ𝑘𝛽𝛼𝐵 𝑘𝛽𝛼; 𝑘𝛽

𝑘𝛽𝛼

𝑘𝛽
[ 1 − 𝑝 𝑘𝛽𝛽 − 𝑘𝛽𝛼 − 𝑝]

𝑑𝑁𝛼
𝑑𝑡

= −
1 − 𝑝

1
𝑁𝛼

Σ𝑘𝛼𝑃𝛼 𝑘𝛼 Σk𝛼𝛽B k𝛼𝛽; k𝛼
k𝛼𝛽

k𝛼
+
1 − p

1
N𝛽

Σ𝑘𝛽𝑃𝛽 𝑘𝛽 Σk𝛽𝛼B k𝛽𝛼; k𝛽
k𝛽𝛼

k𝛽

𝜌 =
2𝑀+−

𝑁𝜇
=
2𝑀−+

𝑁𝜇
𝑛 =

𝑁+ −𝑁−
𝑛

𝑚 =
𝑀++ −𝑀−−

𝑁𝜇

𝑑𝜌

𝑑𝑡
=
2 1 − 𝑝 𝜌

1 − 𝑚2
1 − 𝑚2 − 2𝜌 −

2

𝜇
1 − 𝑚𝑛 +

2𝜌 1 + 𝑚2 − 2𝑛𝑚

𝜇 1 −𝑚2
−
2𝑝𝜌 1 − 𝑚𝑛

𝜇(1 −𝑚2)

𝑑𝑛

𝑑𝑡
=
2 1 − 𝑝 𝜌 𝑚 − 𝑛

1 −𝑚2

𝑑𝑚

𝑑𝑡
=
2𝑝𝜌 𝑛 − 𝑚

𝜇 1 −𝑚2

Λ 𝑚0 𝑛0

Λ

𝑛0 = 0.2 𝑚0 = 0.4
Λ

𝑝 = 1 𝑛 = 𝑐𝑜𝑛𝑠𝑡
𝑝 = 0 𝑚 = 𝑐𝑜𝑛𝑠𝑡

𝑝

𝑝 < 𝑝𝑐

𝜌
,𝑛
,𝑚

𝝆 𝒏

𝒎

Λ
(𝑚, 𝜌∗ = 0)

́

𝜌∗ =
𝜇2 1 − 𝑚0

2 1 − 𝑝 2 + 2𝜇 1 − 𝑚0𝑛0 1 − 𝑝 𝑝 + 1 − 𝑛0
2 𝑝2

2 𝜇 − 1 1 − 𝑝 𝜇 1 − 𝑝 + 𝑝 2
𝑚∗ =

Λ

𝜇 1 − 𝑝 + 𝑝

𝜌∗ = 1 −𝑚∗2
1 − 𝑝 𝜇 − 1 − 1

2 1 − 𝑝 𝜇 − 1

𝑝𝑐 𝜇 =
𝜇 − 2

𝜇 − 1

𝑝

1 − 𝑝

𝑛 =
3 − 2

5

𝑚 =
6 − 2

12

𝜌 =
2 ⋅ 2

12

𝑚 𝑛 Λ
𝑚 − 𝑛 𝑛 = 𝑚

𝜌 = 0

𝜌 = 0
(𝑝 = 1) (𝑝 = 0)

𝑝 Λ 𝑝

Λ = 1 − 𝑝 𝜇𝑚 + 𝑝𝑛

𝑝 > 𝑝𝑐𝜌
,𝑛
,𝑚


